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Quiz time
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d. Multiphy. L4e a réctangle rode).

ap 42 x 37 h.lﬂ‘:i'a"lili E}U{IMU'?
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5. Arectangular plat of land measures 305 m by 5.3 m
What is the area of the plat?
Estimate to chack your answer is renmnahle

B~ Qxo 3(35'
30.6x5.3 6.5
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Homework Solutions
5. A rectangular plat of land measures 30,5 m by 5.3 m
Whal is the area of the plal?

Estimate to chack your answer 5 reasonable

B+ Qv 3(3?5'

30.5¢5.3 __b,%
N 30X E 9 !
1 5D 1615

6) Multiply. Describe the pattern

a)8.36x10 =83.6 a)8.36 x0.1 =0.836
8.36 x 100 =836 8.36 x 0.01 =0.0836
8.36 x 0.001 = 0.00836

8.36 x 0.0001 = 0.000836
When you multiply by multiples of

8.36 x 1000 = 8360
8.36 x 10 000 = 83 600

When you multiply by multiples of 10
(10,100, 1000..), the digit in the product

moves one place to the left each time. (Or,

the decimal point moves one place to the
right each time.)

0.1 (0.1,0.01, 0.001..), the digit in the
product moves one place to the right
each time. (Or, the decimal point
moves one place to the left each
time.)
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Homework Solutions

8
_ 3.4
7) Area = length x width
=3.4mx 27 2l
=3.4mx2.7m DoY)
= 918 m’ Lso

8)a) 2.7 x4.786 = 12.9222

b) 12.52 x 13.923 = 174.31596

c) 0.986 x 1.352 = 1.333072
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B, The luel consumption esimanes of logie car are
City: 212 kmil Highway: 23.3 kmil
The car's ga tank holds 40.2 L of fusl,

Ay Haow far could Joske drive on a full tank of gas on the highwey
before she uns out of fusl?

Homework Solutions

B How far could she drive an a full tank of gas in the city?
What assurnptions did vou make?

dx%(%.% she cn

ckrive

q/siﬁ__ A3b.bb Km 6h o
o 36‘(0 b §ll ‘kd-'\k

'fh 'H'oe on‘:ﬂ cAo
Can dArve @s2. 24 km

18. Find the cost of rach item at the Farmers’ Market.
Which strategy will wau use? Justify your chalce,
aj .56 kg of apples at 50.95/kg
by 105 ko of potatoes at 51.09'%q
] (1L.25 kg of herbs at £2.48%g

N
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11. The product of 2 decimals is (.36
What might the decimals be? Homework Solutions
Fimd a5 rmariy answers as you can

HxT=36 , s06.4%x0970.%
2L 18 =36 1 S0 0. 2x [ % =0.%
ly 3L < 36 y So 0.1 X85 = '0.3b

3x12=20 , sp 0.3 x]R= 0.3k

12 a) Multiphy 18 = 12
bj Use cnby the rasull from par a and estimation.
Find each praduct
i} 18 =12 i) 18012 i) 18 = 12 iw] 018 = 012
Explain your strategees

AN
¥ 12

Ig= 180
1Ly 2L

2yl =
216
W 1.8y 12 =26
gy 0.12=22.1¢

0-1¥x 12 =2.1¢
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13. Take It Further

Homework Solutions
a) Multiphy,

i} 63 = 1.B Iy 037 * 0.26 iy 352 < 2.4 ¥l 1234 = 09
ki Look at the questions and praoducts in part a

What pattemns do you see in the numbers of decimal places
in the question and the product?
Haowy could you use this pattem to place the decimal polnt
in a product without estimating?

) Multiply: 2.6 = 3.5
[ the pattern from part B hold truse?

IF wour answer is no, explain why naot, \
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Dividing Decimals

Since multiplication and division is related, we can also use Base Ten
Blocks to divide.

3.2+04 break into groups

_ containing 4 tenths.
we say 32 tenths + 4 tenths = %9MHOW many groups?)

ST= aTaTar stsinininn(ainaialn ST
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Dividing Decimals

1.8x04=072 THEN 0.72 <+18=04 N QL}D.nent
0.72 2 0 4=18 Drrnsor )Dirmdend
d'V'de‘d d|V|sor ‘}uotient o
long division
long division but first make divisor a whole number
|3
a) 041072 R 4172
o v - 'L
32
32
o
b) 0.810.72 9
v - 2 Mz
72
o
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52.]1 2= 0.9
estimate

~sa *\
=99

0.9 ' 521, ————
(4

wer
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Ol 43 .1, — 7\”33’
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6795+ 1.2 = \2 [L19.50 0
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Class/ Homework

ave

pg. 106 #4 , #5

alse J
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